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(a) z1(t) = cos(4t). Plot the magnitude of the DTFT of z;[n] = z1(nT}) for T, = 2=

4
(b) z2(t) = Sllw(ti) Plot the magnitude of the DTFT of z3[n] = z,(nTs) for T, = %5
; sin(4¢)
(¢) z3(t) = — Plot the magnitude of the DTFT of z3[n| = x3(nT;) for T, = 22
sin(4t) : » o
(d) z4(t) = — Plot the magnitude of the DTFT of z4[n] = z4(nT;) for T, = 2.
sin(4t) , '
(e) zs(t) - Plot the magnitude of the DTFT of zs[n] = z5(nT,) for T, = &

(f) z¢(t) = a {SH;SR) } Plot the magnitude of the DTFT of zg[n| = z¢(nT}) for Ty =

7l'

(g) z (t) {sm(;lt) } Plot the magnitude of the DTFT of z[n] = z;(nT}) for T, =

™

. 2
(i) zo(t) = {s1n(4t)} Plot magnitude of the DTFT of zg[n] = a:g(nT ) for T

sin(4¢)
7t

méww=t{

. 2
(k) z11(t) =1 {M} . Plot magnitude of the DTFT of z11[n] = z11(nT,) for T, =

%

7t

sin(4¢

v

) o) = {

sin(4¢)
Tt

@) o)~ {

} cos(ﬁt) Plot magnitude of DTFT of 12[n] = z15(nT}) for T, =

2
} . Plot the magnitude of the DTFT of z3[n] = zg(nT;) for T = &

} . Plot fnagnitude of the DTFT of z19[n] = z10(nT,) for T, =

Iw }»—xlm
NE]

¢
A
- |
4

7
# e

} cos(6t). Plot magnitude of DTFT of z13[n] = z13(nT}) for Ty = %—g

(n) z14(t) = { sin(2t) } {sm(4t) } Plot the magnitude of the DTFT of z14n] = z14(nTs)

for Ty, =

(0) z15(t) = {sm } { sin(4 } where * denotes convolution. Plot the magnitude of

the DTFT of z15[n] = 15 (nT ) for T, =
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